One Ton of Refrigeration is
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a.1200 BTU/hr

b. 12000 BTU/hr

c.200 BTU/hr

d. 2,88,000 BTU/hr

Name the meter used to measure relative humidity.

WIYET AT T A F AT g7 A F AW Fase

a. PSYCHRO meter

b. Multi meter

PSYCHRO #Hrex Hedl e

¢. Humidity meter d. Volt meter
egfAfsd A diee #Hiex

PSlis the unit of

PSI T SHTS &

a. Pressure b. Temperature
RIS SFIET

c. Humidity d. Reality of gas
RAGIEE fAfadr 3w
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A good refrigerant should have

U ISl ylided gl aifRy

a. Low specific heat ratio
& faferse a9 sieard

b. High latent heat
3wd Hcgad dq

c. High thermal conductivity
3T dd AT

d. All of above.
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Heat is rejected by the refrigerant, during vapor Compression refrigeration cycle in

gIc &1 IPoiie @l 3R & ar Jrar ¢, dw Feoee e o &

a. Condenser

b. Evaporator

HSET TgURE
c. Expansion device d. Compressor
TFEdRe fBarsw FAET

A domestic refrigerator capacity may be approximately.

U e (PReIeX T THCT WIS g1 Wbl §

a. 1Ton 1a - b. 0.1Ton 0.1¢
¢ 1.5Ton 1.5 & d. 2Ton 2 ¢
State the suction pressure of %-134A
%-134A &1 f@@1E &g aare
a. 75to 80 PSI b. 12 to 18 PSI
75 @ 80 MUHITE 12 & 18 diuasms
c. Below 0 PSI d. 60to 70 PSI
0 & i qreEe 60 70 FruE3TS

Any substance for change of its state at constant temperature also give up heat called.

AR dAe W 39S 5T & aRade & T S5 gere ofr Fgr Jar & et

a. Sensible heat Y&l gre

b. Latent heat a/cd gie




c. Specific heat fafrse € d. None of these 5T & HIS gl

9. | COP of domestic air conditioner as compared to that of domestic refrigerator will be.
Y] YBFoRCT &1 gore # WY TR HERER A ddr gel
a. Lower &H b. Higher 3TdcaX I
c. Same @gr d. Un-predictable 3/=-3%1g & #dfa®
10. | In a domestic vapour compression refrigerator the refrigerant is used

Ts Bl I FHERE Ienex # e @1 3yl fohar S &

a. CO, b. R-134A

c. Ammonia d. R-410A
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13.
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Device used for auto off an electric iron is v
a) Thermostat switch
b) Overload relay
¢) Time delay switch
d) Any of the above.
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In order to draw more current from the electric source
a) Resistors are connected in parallel
b) Resistors are connected in series
c) Resistors are connected in series and parallel
d) Induction & Capacitor are connected with source
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A generators converts
a) Mechanical energy into light
b) Electrical energy to mechanical energy
¢) Mechanical energy to electrical energy
d) None of the above.

T AR (@ey) uRafda Far g -
@) Tt F=T 1 g § (@) e ot B gityw Fo §
(M) =it Fe B g et d (&) I H ¥ FE AL

Resistance of open circuit is equal to
a) Zero (b) Infinity (c) less than 1 ohm (d) Non above

(%) T @) ITa M1 AMIFT  (¥) T8 F P 781

Which of the following is not a non conventional energy source
a) Solar (b) Bio gas (c) Wind (d) Electricity
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To measure shorter lengths with their accurate reading we use
T & FIAET 3YSOT BN dAS F AGS & fAv IuGer gar §

a) measuring tapes/ A & T b) meter ruler/ #ex mas

c) Vernier calliper/ sy &foaw d) all of them/ 3utea @i r

25.

Up to which accuracy small gap gauges can be measured by using slip gauges?

BT AT & IUANT I hE FEHdl & Y DI AT & AT ST FhaT &7

a) +0.001 mm/+ 0.001 = b) +0.002 mm/+0.002 A=

c) +0.003 mm/0.003 &A= d) +0.004 mm/0.004 f&+
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92T 27 - UAATYT AITH, 1976 H Fa-dvg T fhar a=ar g ?

() aY¥ 1984 ug 2009
(@ av 1985 ug 2010 &
(M) a¥ 1986 Ug 2011 &
()  a¥ 1987,2007 U 2011 &

mazs-m%ﬂmaﬂmaﬁgm?
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() S, 1975 H

& v Fia-a A= TS ST W@ g 2
(@) ATIIRROT T EHR AT
(@) HgRdr gA GERR Al
(@M weudr [ e e e
(@)  gRay T Feud [WERR ArsEr

3T § AU Fa-Ar AT TdqS S W@ g ?
(F) HRdeg JERR IS

(@) 3EE AQER S Efade] RERR Areiar
(@  YHUE JIERR AT

() gAFEe dd SR AT






